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Attendance for Dr. Z.’s MathHistory for Lecture 14 (due no later than 15 minutes after class)

NAME: (print!) \ﬁ\l-( An CMQM/\\/\J

Email to DrZlinear@gmail.com right after class

Subject: pl4

with an attachment pl4FirstLast.pdf

Part I: List all the "attendance questions” during the lecture, followed by your answers.
Part II:

1. Perform the following permutation-product
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find 7,72, ... until you get the identity permutation.
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3. Express the permutation

1 2 3 4 5
31 2 5 4) 7

as a product of disjoint cycles. What is the smallest ¢ such that 7 is the identity permutation?
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4. Find 71 if



